



namn: _____

Datum: _____ Poäng: _____

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{2}{5}\right)^3 - \frac{1}{2} =$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{6}\right)^0 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{3}\right) - \frac{1}{6} =$$

$$\left(-\frac{3}{4}\right)^0 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{4}\right)^3 + \frac{3}{4} =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{5}\right) + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{3}{5}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{5}\right)^0 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{2}\right)^3 - \frac{1}{6} =$$

$$\left(-\frac{2}{5}\right) + \frac{1}{3} =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{2}{5} =$$

$$\left(\frac{1}{2}\right)^0 - \left(-\frac{1}{2}\right) =$$



namn: _____

Datum: _____ Poäng: _____

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{2} = \left(-\frac{1}{4}\right)$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{59}{100}\right)$$

$$\left(\frac{2}{5}\right)^3 - \frac{1}{2} = \left(-\frac{109}{250}\right)$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{27}{50}$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{1}{4}\right) = \left(-\frac{55}{216}\right)$$

$$\left(-\frac{1}{6}\right)^0 - \left(-\frac{1}{4}\right) = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{2}\right) = \frac{11}{18}$$

$$\left(\frac{1}{3}\right) - \frac{1}{6} = \frac{1}{6}$$

$$\left(-\frac{3}{4}\right)^0 + \left(-\frac{1}{6}\right) = \frac{5}{6}$$

$$\left(-\frac{1}{4}\right)^3 + \frac{3}{4} = \frac{47}{64}$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{1}{2}\right)$$

$$\left(-\frac{3}{5}\right) + \left(-\frac{1}{5}\right) = \left(-\frac{4}{5}\right)$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{2}{5}\right) = \frac{427}{1080}$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{13}{75}\right)$$

$$\left(\frac{3}{5}\right)^3 - \left(-\frac{1}{2}\right) = \frac{179}{250}$$

$$\left(-\frac{3}{5}\right)^0 + \left(-\frac{3}{4}\right) = \frac{1}{4}$$

$$\left(\frac{1}{2}\right)^3 - \frac{1}{6} = \left(-\frac{1}{24}\right)$$

$$\left(-\frac{2}{5}\right) + \frac{1}{3} = \left(-\frac{1}{15}\right)$$

$$\left(-\frac{1}{2}\right)^2 - \frac{2}{5} = \left(-\frac{3}{20}\right)$$

$$\left(\frac{1}{2}\right)^0 - \left(-\frac{1}{2}\right) = \frac{3}{2} = 1\frac{1}{2}$$